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RRE GROUP-'D' CBT EXAM.
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Mg 17A =4B
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2881.(A) =1 TEEM 9 BT W WAEm = n
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s
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RRB GROUP-'D' CBT EXAM.

A B
2898.B) T, 15 24 12
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2909. (A)
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3 5 9-5 4 1 17+a+h
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RRB GROUP-'D' CBT EXAM.
/’(/—__ 0.7
—_— =2 T ¥-24x+44=0
g1 o > x2-22x-2x+4=0
? 2 = x{x-EE}-E{x—222211=ﬂ
5 T-6C =~ = x-2c-22) =
_z+}2c 7 . xfgzmﬂ
2(‘.—99 2926. (D) i
C===3_¢25 2927.(C) Wt % e amg
12 4 miﬁﬂ#ﬂﬁ -—.:lt'-llﬁ:I 15
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?”{C} TE “63_‘.{-357-5}“‘14'!'-5”] = x+15=(x- ) x 5
I + [{63 +-7-6}] = 5x+?5=g.]1t—24
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-15 2928, (B) {143 - {9 2}}=—[2+{3x{—51><1'. -1

400
0. (A) AV speed = = =80 km/h

®

= {143 -'i"}-+-[2+15]
=136 + 17 =
2929, (C) %ﬂﬁﬁﬁﬂmmﬁﬂﬂﬁﬂ‘w 20-2=18

2930, (B) 306, 204, 136 ¥ %8 = 34
0) 2931. (D) C
' D
25 5
| 5:1 |
| 5 25 A &
| e W = =x5 === 4h 10 min am: BC &t wfgwfom 01 %1 semwa €
~ 921.B) 30 +(20-15+3 x 8) 2932, (D) 5] M=1]ﬁﬂ-$u
. 30
| =30+ (20 - 5:-:8]—:2-5="15 2033, (C) w1 =R w79l x, (x + 1), (x + 2), (x +3), (x
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- 922,00 Alg (x+4),(x+5),(x+6) =78
g =:f
43-5m x=21
mmﬂ%ﬁhwﬁf‘ﬂﬂmﬂmﬁﬂ 21 +22+23
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B " D 21 3
it gt (d) = h(cotf, - cotfly) 2934. (C) E=§=§
=43~5(.,:'"..Tl_.] W% w1 o %99 2 = Factor #
' 3
; 2\ J8 a: % w1 TIerE wml d e
- 435::——)?‘“— 2035.(C) S B total work
[_ V3) 3 A T-17 51 51
= s =29 3
14523 B E- —4 x 12 = 48 unit
923, p) T-E”--E”’—;‘Eﬁ-mnmnd ¥ W wE W
o _ %5 .01 total time = (2 x 12) + 1 = 25 fq
L ';‘i;j‘_;’_gggig 885  (2) | 2936.(B) THm % = o = x
e (2) - (1) WML ol ok 4
— QR.E _ 765 = 12 q X
s,y ‘"‘“—23552,@5“1 = 5x- 150 = 4x - 88
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RRB GROUP-'D' CBT EXAM.
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2948. (D) o]
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A7) | B
x 114 -x
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s i@ ABC ¥,
A® = — AB
4 tan 60 = BC
7114 - x)
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SIS B aADEﬂ,tan45°=-AE—g
W: Bw WA= —, =42 7 $uma w1 w9 = ED + DC = ED + AB

2 (4 2 6 2
2939, (A) 5'(E=§Jm [§=§Jﬁﬂﬂ§ﬁﬁﬁ'ﬁl

121
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10 20

2(21] 21

20 1
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5.5—x+ x 55

i
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x=2]
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2943.(D) fae o = 1500 x 100 = 1815 %o

2044, (A) TF% (Eﬂ-IS :n:lDﬂ_

[+ CP = 20, SP = 15]
2945, (B) DEE—ADxBD-mxs = 36
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2946, (C) #i dlc = 20 x 5.4 = 108 m?2
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2949.(A) A D

1:-:2.3:(4.3::2 =13,44m2
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8
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2057.(D) (72)F =5184

Fx=8

2968.0) [ i wr o] 1-3[3-5]|5-7] 7-9[9-11
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